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101|R#A7 L 91 5 86| Kg |EE 972 593|& 1l 3,024 1,188
102|357 L 1,504 1504 Kg BIE 1,566 800
111|&EEF £ 235 15 220 Kg |EE 648 594\ & 1,782 432
113|RAV S 6 6| Keg FfE 2,592 1,620
114|B5EFE 122 122| Kg e 2,970 1,620
117[14 % 19 7 12| Kg |EE= 540 216|fE 3,780 540
134[#= = 514 305 209 Kg |BB - = 2,376 1,100| & 2,700 1,404
137|&5E.3. < 373 249 124| Kg |BER 3,888 3,024| &R 6,867 3,240
138|HA % 2 160 160 Kg R 1,620 972
140(5 I 4 4l Kg b 50,400 47,700
147|E2 O 79 79| Kg ERE - g 6,000 4,000
158|&TEN A IEH 174 174|  Kg =4 3,208 864
201|{Lb L 243 243|  Kg EF 432 180
203|/hé L 42 42| Kg fE 459 324
206| = 1F 365 20 345| Kg |EE 648 540| R 1,080 410
207|= A K 4 4l Kg imE 945
208| Mo % 73 73| Kg KI5 2,808 1,296
212|&5E.3Y 871 871| Kg FIE 2,322 648
254|EDRECH 557 28 529| Kg |FE 1,955 T 2,376 1,026
303|1A 220 370 27 343| Kg |@H 792 = - Rl 972 500
305\ kA 0B 23 2 21| Kg |EE 1,620 =35 5,400 2,160
315|7b 5 11 11| Kg =l 3,780
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3191 b o 312 40 272 Kg |=R# 756 540(F1Fkl - uA 1,728 594
332|115 WA EF 176 176 Kg JbF 3,024 2,268
3BlHHY 20 5 15| Kg [®E 4,320 =1, 10,260 3,240
3541xx <Y 42 10 32 Kg |2 1,836 FE 1,404 1,134
3/5|HEY) 75 75| Kg timE - P E 1,620 600
356|L LA 15 151 Kg SR 864

357~ E 27 27 Kg FEE 4,320 1,080
362|Hh & 473 473 Kg N 4,320 630
4025 E 5 5| Kg FAN 5,616
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512| A& AL 210 210| Kg b 1,450 1,400
523| A EARAT 2 O 355 355| Kg =] 4,380 473
54| ARE & 2V 131 131| Kg Bh 1,620 1,080
558|# 40 40| Kg b 972
560|472 94 94| Kg Bh 2,650 1,780
5764 X 1F 10 10| Kg =] 1,836
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70110 BA 1,022 676 346 Kg |EE 3,456 1,183| BE 1,744 1,134
709|Lb LALF 12 12 Kg TFE 891
710(2 2 AT 16 16| Kg Ko 1,119 756
BlEFAI L 207 160 471 Kg |B1R 940 792| & 936 847
755|FH&» C 18 18 Kg EE 728
7611 b BHAEL 6 6] Kg EE 2,700
801 [3BAT = 1S 196 196] Kg bF 1,728 1,166
802 1 36 36| Kg 2Dzl 1,836 1,404
805 = 1E 1,436 1,436 Kg bF 1,145 432
810|BAKTF 336 336 Kg JbiF 2,160
815|—9 A ZE 8 8 Kg mE 1,224
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